Inlet Duct System for a
PhNDUIT
Part Number: DIRLC3210S17W

© Panduit Corp. 2014 INSTALLATION INSTRUCTIONS V00029FE

Rear of Cabinet

Jifl  (HotAiste)
sl
Nl
<
2 : For a Panduit
i N-Type Cabinet
i
N
Nk
[
NIk
Nl
Nl
Nl
NIt
<
<
NIl
NIk
Nk
Nk
K R
=gy
Front of Cabinet
(Cold Aisle) Inlet Duct
Component Guide
Note: Upper RH Bracket
Has Notches On Top.
[®)
(@)
! Upper Seal
Plate
Upper LH o Upper RH Upper Inlet Duct Box
Bracket Bracket (‘y
Lower LH
@) Bracket 4
O -
<\/\/
Note: Lower RH Bracket Side Ducting
@) Has Notches On Bottom.
y
' Lower RH (2) Upper Adjustment (2) Lower Adjustment Lower Seal
WO . Bracket Brackets Brackets Plate

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 11



© Panduit Corp. 2014 INSTALLATION INSTRUCTIONS V00029FE

INDEX

PAGE
Upper / Lower Left Hand Bracket INStallation.............oooii i e e eee e e e e e e e s 5
Upper / Lower Right Hand Bracket INSTallation.............oooiioiiiiiece ettt e e e s e aeeeeeaeae s 6
Attaching FOam Seal t0 Sid@ DIUCL............uuiiiie ettt e e e s sttt e e sb bt e e e e s anbeeeeessnbeeeeenans 7
Side Duct Installation (Day 1: Without Side Panel)...........ccoo it e 8
Side Duct Installation (Day 2: With Sid€ Pane@l).........coiuuiiiiiiiie et e anaeeee s 9
Upper / Lower Seal Plate INStAllAtioN............oiiii oottt e e e e e e s er e e e e e e e e s s snarraereeeeeaaeeeeesannnnns 10
Upper / Lower DUCt BOX INSAI@tION. ...t e e e e e e e s e st rer e e e e e e e s e s snnnnnrennneeeaaaeeas 11

Tools Needed:

-Phillips Head Screwdriver
-Socket Wrench
-M8 Socket

Hardware Supplied:

Qs

# 12 Star
Washer

#12-24
Screw

@ 4\\

For Technical Support: www.panduit.com/resources/install_maintain.asp




© Panduit Corp. 2014 INSTALLATION INSTRUCTIONS V00029FE

Device Placement

* Due to physical constraints posed by the front-to-back beams on the legacy Net-Access cabinet,
there are certain areas of the cabinet that the device cannot be mounted when used in conjunction
with this inlet duct.

* For new Net-Access switch cabinets (N***), there are no device keep-out areas. The only restriction
on device is that 3 RU must be left open above and 2 RU must be left open below the switch.

* NOTES:

Numbers-up RU numbering (#1 at bottom) assumed.

The front equipment rails need to be in the full forward position.

Rear equipment rails need to be located 23.5" to 25.5" from the front rails.

45 RU Net-Access CN*** Cabinet (Legacy) 42 RU Net-Access CN*** Cabinet (Legacy)

C i s \ a_Jﬁ iu i o i_ uﬁ
Device KEEP-OUT Ty 7 i Device KEEP-OUT 0 o
area - RU 41 - 45 gt /5 area - RU 38 - 42 g 22
ot A o o %i:g
A o i o 30
i i T i it
i - ok i
. . L E 9 ol 40

Device can be installed 3 : Device can be installed ; ]

. B e B: b
in RU 27 - 40 Q Q in RU 27 - 37 Q 'Q
o 3y o 3
Bl Bie ok 3
i 1 ok i
ol 3 ol 1
v £ EW 0 _ 0 7 L

Device KEEP-OUT 0 0 1o ! Device KEEP-OUT . E ;
area - RU 19 - 26 / i area - RU 19 - 26 of: /,u
g 1 ] Y
i A g g : AED
A 0 0 A 0k 4
ok 2y ok o
o i i i
Device can be installed alE: 2y Device can be installed ol 0
inRUS5-18 L AU inRU5-18 Ul 0
vE 30 vE 30
of: 0 v 0
o 0 o 40
o i o 0
Y D y 0 y 0 0
Device KEEP-OUT U ///// U Device KEEP-OUT U A0
area-RU1-4 S i /AﬁE;& area-RU1-4 i

o

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 of 11



© Panduit Corp. 2014 INSTALLATION INSTRUCTIONS V00029FE

Device Placement for Net-Access N-Type Cabinets (N**¥)

* For Net-Access N-Type cabinets front and rear equipment rails need to be 23.5” - 25.5” apart.
* NOTES:

* (2) switches are able to fit into both the 42 RU and 45 RU N-Type cabinets.

*  Numbers-up RU numbering (#1 at bottom) assumed.

(o, o ° T T3 o o ) [ T o o .o

Device KEEP-OUT =¥ e Device KEEP-OUT e

area - RU 43 - 45 Cl: 3w area - RU 40 - 42 e

= 30l 30l

A s b e A e

=K e e

=¥ e 25

= E e e

=¥ e 2=

= § e e

=& e 2=

=¥ e e

=& e e

=& B o

= 1 o

= B Ho

st il o

= R o

Device can be installed o § 1o Device can be installed o

in RU 3 -42 =8 el inRU 3 -39 el

=& BE o

= e e

=& B o

=& e B

=8 e 2=

=K e L=

= E e e

=K e 2=

= E e A

=& e 2=

=K e 15

=¥ e e

= # e He

= E e e

=K e e

= § e 1=

=& e g=

= o o

=& e Ho

= e [

V st e V B

Device KEEP-OUT il e Device KEEP-OUT 2

area-RU1 -2 D ] area-RU1-2 f'.:'
| Pl e o o . © ° 2 | o e ® ° 2

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 4 of 11



© Panduit Corp. 2014 INSTALLATION INSTRUCTIONS V00029FE

Upperl Lower Left Hand Bracket Installation

The inlet duct system is designed to accommodate e-rail spacing between 23.5" to 25.5". A 4 post Cisco Nexus 7018 type rack mounting
kit can be used as an alternative to the 6807 mounting kit.

*  Measure distance between front and rear rails.

* Loosen nuts on adjustment bracket and adjust to fit rail spacing.

» Install (1) Upper Left Hand Bracket with (4) #12-24 screws and (4) #12 star washers. (Leave screws loose until Inlet Box is installed.)

* Install (1) Lower Left Hand Bracket with (4) #12-24 screws and (4) #12 star washers. (Leave screws loose until Inlet Box is installed.)

Adjustment
Nuts

Adjustment
Bracket

(8) #12-24

screws
Upper

Left Hand Bracket Rear of Cabinet
(Hot Aisle)

Upper Left
Hand Bracket

10 RU
For Switch — |
Adjustment
Nuts
Adjustment
Bracket
.. g

B T T T T T T T T T T T T TTTD

(8) #12 Star

Front of Cabinet Lower Washers
(Cold Aisle) Left Hand Bracket
[
=g
ij[=.
Rear of Cabinet B
(Hot Aisle) @d| o
Lower Adjustment Bracket S ij
.. o 7
Lower Left \\
Hand Bracket Ny
el
! o !
Bl
il
: . o . = .

For Technical Support: www.panduit.com/resources/install_maintain.asp
Page 5 of 11




© Panduit Corp. 2014 INSTALLATION INSTRUCTIONS V00029FE

Upper/ Lower Right Hand Bracket Installation

The inlet duct system is designed to accommodate e-rail spacing between 23.6" to 25.4". A 4 post Cisco Nexus 7018 type rack mounting
kit can be used as an alternative to the 6807 mounting kit.
*  Measure distance between front and rear rails.
* Loosen nuts on adjustment bracket and adjust to fit rail spacing.
+ Install (1) Upper Right Hand Bracket with (4) #12-24 screws and (4) #12 star washers. (Leave screws loose until Inlet Box is installed.)
+ Install (1) Lower Right Hand Bracket with (4) #12-24 screws and (4) #12 star washers. (Leave screws loose until Inlet Box is installed.)

Adjustment  Adjustment

Upper Bracket Nuts
Right Hand Bracket Upper
g nght Hand Bracket Rear of Cabinet
(Hot Aisle)
(8) #12-24
screws

\¥
\

|/

A

A\
\

.

\

(8) #12 Star

Washers
10 RU

For Switch |

Adjustment .
Bracket Adjustment

Lower
Right Hand Bracket

Nuts
o :
0 O
g
s L —°/ .

Front of Cabinet
(Cold Aisle)

Lower
Right Hand Bracket

Rear of Cabinet
(Hot Aisle)
Lower Adjustment Bracket

=
T

|

S

N vy

]

o
o
°.
o

[

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 6 of 11



© Panduit Corp. 2014 INSTALLATION INSTRUCTIONS V00029FE

Attaching Foam Seal to Side Duct. (For Net-Access N-Type Only)

Attach one strip of foam seal to flange on the front of side duct.

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 7 of 11



V00029FE

INSTALLATION INSTRUCTIONS

© Panduit Corp. 2014

Side Duct Installation

Install Side Duct with (4) #10-32 nuts.

DAY 1: Without Side Panel

(4) M5 Nuts

(Cold Aisle)

-
(]
£
Ke]
©
(&)
Y
o
-
[=
[e)
[
18

A/Side Duct

ST e ccccs ccescesssessese s

LT

(Hot Aisle)

Page 8 of 11

For Technical Support: www.panduit.com/resources/install_maintain.asp




INSTALLATION INSTRUCTIONS V00029FE

© Panduit Corp. 2014

DAY 2: With Side Panel

Note: Side Duct can also
be installed with Side

Panel on.

_ e — — - ) — — — — — — =

_ooooooaaoaaooaoo.uMOMQ wooo_

ocoooooocoko © op © 66 & 060 8

ooooocooaoooaooooMOOOOMOBQ |
o L] e e o e on
O DDDDDD DD

s W 3 3 /. v W W

(4) M5 Nuts

Rear of Cabinet
(Hot Aisle)

Front of Cabinet

(Cold Aisle)

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 9 of 11



© Panduit Corp. 2014 INSTALLATION INSTRUCTIONS V00029FE

Upper / Lower Seal Plate Installation

» Slide studs on top seal plate into holes in the side duct.
»  Secure top seal plate in place with (2) M5 nuts.
*  Repeat process for bottom seal plate.

Rear of Cabinet
(Hot Aisle)

o~ .
(% <
.
2 (N
0 N
° \
o el N
0 \
> . \
0 ﬂ '.
o |
(% 0 /'
o /
° ,
ol /
) s
|l -
/
5
0|
B L~
(2) M5 Nuts

o B

S

PR ALY AT ALY AR A Y A Y AT AT ALY ALY ALY AL AT AT ALY ALY ALY AL T AT AT AR Y AR Y A Y A AT A YA Y A Y A Y A Y AT A Y A Y A Y A Y AT AT A YA Y Y R YR Y Y 4

()

PR YA AT AR 4 AR ALY AR AT A (Y ALY A Y A AT AT ALY AL Y A AT AR Y A Y A Y A Y A ¥ AT A Y Y A Y A YA T AT A Y ALY A Y A Y AT AT A Y A Y A Y A Y AT )

Front of Cabinet Lower Seal
(Cold Aisle) Plate

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 10 of 11



© Panduit Corp. 2014 INSTALLATION INSTRUCTIONS V00029FE

Upper / Lower Duct Box Installation

* Install (1) Upper Duct Box by sliding box into mounting rails and securing with (2) M5 nuts.
» Install (1) Lower Duct Box by sliding box into mounting rails and securing with (2) M5 nuts.
» Tighten all bracket screws.

-. '. i
A <
A R
i AN
N N
i AN
i X , J&I )
= K ' J& |
dl0 (R AR
\ . [
D3 ' \
Ay ' ... '.
D3 ' \
Ay ‘ ... '.
03 ' \
s 4, S LIS
s Q* nALEE
Upper Inlet Duct a J& |,
O ‘ ‘; .‘. )
q Q° ALK
o N N
' = | [N _.
(2) M5 Nuts N e BN
N
Ql’ b . LA
QI ALK
C o L1 [
A . o | N
QI AR
o - BN N
Ql° MAILE
o g N |,
i AN
Ql° .. g
Lower Inlet Duct o 1.
|
o q- N 0
Q|| o [
L L [§e »y
N N ’
Al / Rear of Cabinet
I .
‘//— o (Hot Aisle)
8y -b{" 5
)

Front of Cabinet
(Cold Aisle)

For Instructions in Local Languages E-mail:
and Technical Support: m nl“T techsupport@panduit.com
www.panduit.com/resources/install_maintain.asp www.panduit.com 866?2852%:654

Page 11 of 11




